PAPER - 11
ECONOMICS
Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1.  The factors that influence demand for a producer can thus be enumerated as
1)  Income of the Consumer 2)  Supply of the product
3)  Consumption of the product 4)  The selling price of the product

@m Curmerssrer Csmeuamw W@Eelses surfiiurearear Spssrapid FrEs5H0HE

2 L L(HSGID Sl

1)  msrGeunyg eumeDd 2)  Qummefler aleflGuirsid

3)  GQummefler misTe 4)  Gummefler ellpLener allane
2.  The Marshallian utility analysis has the ——————— defects and weakness.

1)  Single commodity Model is Unrealistic
2)  Utility can be Measured Cardinally
3)  Money is a perfect measure of Utility

4)  Marginal Utility of Money is constant

LTTag6dlen BISTeYL LiGLUMI6 ————— @@ DT, Loeiamhisamaruh Carar(hererg.
1) epep mstCummer wrdlfl eramug) Guouiemwwbng

2)  uwerur(® (L T ed 6ol 55553

3)  uewrb LweTUTL el Saré@Lb sflwmen ojemali(H

4)  uewgdlen elaflbLBlenevls Lwen Hlanesselleang)

3.  Hicksian A. Revision of Demand Theory published in the year
1) 1953 2) 1952

3) 1954 4) 1956

faflwaller A. HmLiyepenars Coameu Qarareans SpaEsTamib g Ceuaflwmerg
1) 1953 2) 1952
3) 1954 4) 1956
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4. The Marginal Rate of Substitution (MRS) is the

1) Rate of exchange between single units of goods X and Y which are equally
preferred.

2)  Rate of exchange between more units of goods X and Y which are equally
preferred

3) Rate of exchange between some units of goods X and Y which are equally
preferred

4) Rate of exchange between other units of goods X and Y which are equally
preferred

Qerpu elefibyblenay jere| alldls LG GILITmET ererLg,

) X, Y odu sofleouie Ceamriiu@n CGurmlsepsdauleomear pnamsambm)
ufleurssenen elllgn

2) X, Y gdfu sodloouie Ceuammliu@n Qurmlaessd @auleomear LieoGam)
FamiFEhssTar UfleuTssanen edllgn

3 X, Y «du soflaould GeuamLiu@b QummlsaersE Qe ulorear sl
Fam&@hGsTaT Lifleurdsaner alldlsn

4) X, Y <dwu sofloouie Ceuamlumnd  QurplseErsd Qe ulorar  19m
Fam&@hGsTaT Lifleurdsaner alldlgn

5.  The indifference curve analysis was first evolved by
1)  David Ricardo 2) F.Y. Edgeworth
3)  Alfred Marshall 4) J.R. Hicks and R.G.D Allen

UMSUILSHST eueneTeua Tl LIGLUUTImE (PSedled euenFumiSSHel
1)  Grel AemrGLm 2)  eToull Ul T spGleurms
3) eyl rTaged 4)  Csy.9p. aublde oHmID ,T.adl.1q. a6

6. The assumptions of the Revealed Preference Theory is
1)  The consumer buys a combination of two, but not more than two commodities
2)  The consumer buys a combination of three commodities
3)  The consumer buys only a single commodity

4)  The consumer consumes various combination of commodities

Geuetliuient_wims Cobul L gerenn aSl(HDLLD Garetangsulilen &g Carerger

1) merGeunt @rewr®h CummLsaner @Qanenrsgl eummb@GHnTT yearmed @rearr(hds@ Comul L
QummL_seneT @)anenTsse @ean e

2)  msrCeun epenm QUTHL ST @EanTHE] GUMbIGS DT
3)  msCeur Cr e GumHener L (HIb curkiGS pmT
4)  msrCeurt udCeaum Qurmlsamer LOCamn @enarliLsaild Cardgls CumSmpmT
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Identify the correct statement

1

2)
3)
4)

The law of increasing returns to scale relates to the effect of changes in facto
proportions

Economics of scale arise only because of indivisibilities of factors of production
External economies of scale can accrue only to the exporting sector

Decreasing returns to scale occur when output increases in a smaller proportion
with an increase in all inputs

Epsaramid sflwirar Mledlliy eursdwsamss ser s

1y

2)

3)

4)

UGsEHmN Aetai(Bsaflen wrhpmsdr Carmmeils@h sréssgiLar SHmbull Qumbd
LU H g SHasfliy QemmyenLwig

swumfliyg  smseflear  LEsselluorg  Feamepwulernmed, terail_(HL Qummeflwe
> (Heundlmgl

ymeiend Gummeflwue oereyCamed @MUl sre jerelled ehmindlgamer WL (HLD
U Linigumgl Qumss Gelidlpg

gaor o dafhsEpd uHsfss, @l HCwrss  Qealih)  Gopbs Adssdd
FasMgsme, Hmwul Qumb wiliy aisn Gmnsed Hlepdng

Returns to scale refer to changes in output when

1)
2)
3)
4)

All factors of production are changed in the same proportion
There is change in factor proportions
Some factors are changed while other remain constant

None of factors is changed

Hpoul Qupsed GNsSs el ererug Ceuafluiige Cr@mb wrHoEGmar erliGLiTg

GDEGLD eTaTmmed

1) Simasgs surfling samsesb, @Gy wrdlflumer <erailigd wrHmapmse
2) 55E FMEET SaTeil g wrHmd Crise

3) S Y EEEFMMISET DTMIGOELLLI, DHHENE THIEOISETTS 2 6TeTenLD

4)  CuhampPlu &8558 ME6T TSI LTHHLIOE

“An Inquiry into the Nature and Causes of the Wealth of Nations”, was published by

1)
3)

J S Mill 2)  Ricardo
Adam Smith 4) J B Say

Caemisafler Qabeisdhamer syammbisEhD, Qunad @GNss CoLaiib ereamiamg GelatludlLeurm

1
3)

Geg.eren. Lled 2) MssmrGLm
91D VLBl 4)  Cg.19. Gav
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10. The amount a consumer unit could consume by maintaining its wealth intact is

known as
1)  Transitory income 2)  Transitory consumption
3) Permanent income 4)  Permanent consumption

gl Gsdeu Hlevwdwsd &5 @augsddauiw BsTOUTmT  erey mHISTCaMTTTD

BISTULHUMSE @&DHILILIG
1)  ea@sLiy eumeuil 2)  ea(psLLlil HSTey
3)  Blevewimer eu(meum 4)  Bleveowrer psTe,

11. A coefficient which shows the effects of a change consumption on investment is known
as

1) Consumption multiplier 2) Investment multiplier

3)  Marginal propensity to investment 4)  Accelerator

QR GHD (PS5O 1. HIFT6 THDeileneTa|samars ST (haug @Qmisard SMluliLihEng
1)  msrQu@ssd 2) Wzl (HLl QumEsD
3) W3S (B&E elafibLbleney weriGund@ 4) a6

12. The book, “The Purchasing Power of Money” is written by
1) J.S.Mil 2)  David Ricardo
3)  Crowther 4)  Irvin Fisher

LanTS S 6T GUTBIGS meT eTemm Hrened eT(Lpdlweur
1)  Gg.eren. LBled 2)  Creil MemrGLm
3)  &Cysm 4)  @edler Gagm

13. In India, one rupee note and coins are issued by
1) Reserve Bank of India 2)  Commercial Bank
3)  Ministry of Finance 4)  All these

QibHwimelled e eHUMI SMEHLD, HIETILIBISEHLD SpdsaTL Sanlired GeuefluflriLihSermer

1) @pdw fare euridl 2) &AW eumkid)
3) HlF iemFsid 4) @6 SMarsgLd
14. represents the subjective minimum level of interest rates
1)  Transitive motive 2)  Speculative motive
3)  Liquidity trap 4)  Precautionary motive

GonhsULF HFTTHmL il ly alflssamsil 9THldsgieuilhsg$ns
1)  eurenfla o 6 ereiranTid 2)  @uliys seilfliL| 2 6T eTevmenTd

3)  uawr wHILS nsudmLL 2 6T eTewrantd  4)  (penblerdsfEams o 6T ereaTenTLd
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15.

16.

17.

18.

Rise in price lowers the real value of cash balance is known as
1)  Pigou effect 2)  Keynes effect
3)  Tobin effect 4)  Chamberlin effect

aleneGuipmLDd, Liew§ Foenenioudlen 2 arenio SHLienLs GepLiLg @mimeard SPlwuliLBhEng

1)  90ser elleneray 2) Coars alleneray

3)  CGLmler elleneray 4)  smbureder elleera]
Cobweb Theory explains cyclical fluctuations in terms.
1)  Static 2)  Dynamic

3)  Comparative static 4)  Comparative dynamic

fopdeaimad Cararans euflengsdlro gpnelinsssms @nimieand allaréEE ngl
1) fHeoewssey 2)  QuRBiIEGsaTLWG)

3) @U@ Hlowgsey 4) UISLH QuiEseeLwLg

The concept of vicious circle of poverty is associated with
1) Ragner Nurkse 2) J.M.Keynes

3) P. Samuelson 4) J.S. Mill
BEGE HLPE UMIENLDE FEETLD H(HSSTESSSIL 6T CSTLTLenL_ el
1) péent pide 2)  Cgg.erbd. Caetra

3) 9. srpCouddger 4)  Cgg.erav. Lled

The concept of sustainable development was first introduced by
1)  Dussenberry 2)  Keynes

3)  Kindlegerger 4)  Brundtland

Blenvgsa L parCarhns &HSSTEESMS (PS6dle) HAMPSILIHSS weT
1) gea@ui 2) Caars

3)  dlemgeQamblam 4)  Yyesr_evmeser_
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19.

20.

21.

22.

In Solow’s model of growth, the output per capita is a function of

1)  Rate of change of capital-labour ratio
2)  Technological progress
3)  Labour- capital ratio

4)  Capital-output ratio

GamQaveraller cueriddl wm e, saflbLm eflanerCuimmer Spsasam_ger GlFuwied
1)  epesgerb - Qemferart alds wrpp jereih

2)  Qsmfemr L euaniEd

3)  Qsmfemart - (pgad@H NS

4)  epaged - ellanarGlummer edl$lgn

The “Big push” strategy of development was first advocated by
1)  Rosenstein Rodan 2)  Simon Kuznets

3) W.A. Lewis 4)  A.O. Hirschman
‘Quepd saTEn WearCearhm 2 &8 (Pl Epsseim_ il ehrmed SMpsiLHSSILL L g
1) CrrQeearev@_uler Grmmes 2)  ogwen Gt &

3)  Llery,. o.alaflev 4)  g.q. Srwen

Nurkse says in the context of an underdeveloped country inducement to invest is
limited by

1)  Lack of investment opportunities 2)  Lack of savings

3)  The size of the market 4)  The policy of the government

QUEITIT(LPS Bl enLL Qurmggeuenyulled L0 QeliusnE 2 H&IHOMHELD,
SLHLULMSFIUSTEHe|D @) (HLLIS cTeTn) HT&S snmieus)
1) sy harer eumiliLs6r Gampey] 2)  Cellly @evpaey

3) SRSl S{6T6 4)  opfer Qsrarens

Antyodaya Anna Yojana was launched in
1) 1999 2) 2000
3) 2003 4) 2005

2pHCwrsw Syemesm Cuimsenm G SrliLl L g ML Qetiwiul L g
1) 1999 2) 2000
3) 2003 4) 2005
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23.

24.

25.

An economy where modern industrial sector and traditional subsistence sector co-
exist is known as

1)  Mixed economy 2)  Market economy

3)  Dualistic economy 4) Balanced economy

@ euanasl Qummerrsmrsde, ‘Beiar Qgrhnsraels 9fleb, LILFMT S8 LWETLIT g H&TE
L HGW allenareils @b AMeab Garbg @) uikis’

1) seuders Qum@mertsmyd 2) msmgll QummeTTSmyD

3)  @urlen L Qumrmermgmyid 4)  swhleaels GurmeTTsmiD

Even though the factor endowments in a developing country favour adoption of
labour-intensive techniques, the country is forced to import capital intensive
technology from some developed countries due to

1)  Differences in amount of products

2)  Differences in quality of products

3)  Differences in cost of production

4)  Differences in demand for products

QUATT(LPS BT g 60T AHESEFM DANESL_Lanerser (smOOFTT phs 2 SHlamer GonbsTerers

FTHEHONGS  Slageamaid, fo earCarppwaLbs Bresalad@mbs WSH &rm < Dbs
Qamfled B LSS @ME@E Qs Flane TshaTs erhuLL g erefle

1) GQewQumrmer jeraile Goumuimpser

2)  Qun@lseiler grsHe 2 erer CoumLimHger

3)  swumiliys Qeoeler Geumum@ger

4)  swurfliysepsstar Coamaluiler Crmd GCoumLim@ser

Which is the main point on the basis of which public finance can be separated from
private finance?

1)  Price policy

2)  Borrowings

3)  Secrecy

4)  Elasticity in income

Qurgl HHbSImBE seafl Haw Coamu@Bsgeude wWsa|b WPEHWLSFHID TibHSSTS
SienLbaug)

1) &ever Qasmeens

2)  sLenser

3)  whsard

4)  eumeauruiled QpSlpgemanto
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26. During depression period the nature of public expenditure should be

1)  Short term
2)  Too short term
3) Medium term

4)  Long term

LHS HTs LG umgF Agweiear QudL Spssar wpenuiled iemge Geouer(hib
1) endusresdvsrars

2)  Wseb Gndu srosdhsreag

3)  @eaLfmws srapdpsras

4) B sresdhsmerg)

27. In the following which is the characteristics of a tax?
1) Compulsory
2)  Optional
3) Forced
4)  Nationality

§Cip HCILL L eupmier 618 eufuflen @emmeudeud Qsmar(® <iewdng
1)  sliLnuwnerg

2) UL Frihsg)

3)  aupymbgieig)

4)  Csslwb srinfang

28. Which of the following is true?
1) Tax evasion is not illegal
2)  Tax evasion is not the loss to the government
3)  The impact is the beginning of taxation

4)  The incidence of a tax can be shifted
ECLp SriLLeuhmieT 6Tg) 2 aTEnin?

D) aflguly@doweam

2) el Uiy SrE&E QLpLiLieTm)

3)  srésb aifl elH96 QeTLssib @@L
4)  aufl flspejser LrHOLILHSHE W6
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29.

30.

31.

Increase of deflation which of the effects 1s correct

1) Increase in consumption
2)  Decrease in consumption
3)  No effect on consumption

4)  None of these

Gerreymsed odsMaEbéurg Spssranib ebg rHLd Fflwimerg)?
1)  mste sy

2) msTeys Gannum

3)  msTelled erhg LmHmAPLD @)edaned

4)  Cupamdu erenelwee

For the first time VAT was introduced in

1) 1854
2) 1954
3) 1964
4) 1994

WPspsSeNs ELIL gl (Heufl (ur’) SiMlpslLBSSILL L e (H
1) 1854

2) 1954
3) 1964
4) 1994

Public Budget is

1)  An instrument of economic policy
2)  Wastage of money, time and energy
3)  Unnecessary mental exercise

4)  None of these

Qumgy L QgL eTerrLIg)

1) Qumrmernsmrs Qsmaransssran e(m &(mHed
2)  Qummer, %Hme, Crredywid

3)  Ggeweauwmnm wers LGHS

1) Gooou s ey
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32. Deficit financing leads to
1)  Decrease in money supply
2)  Increase in money supply

3)  Deflation

4)  Increase in savings

upOT&E@GmD Bl Epssam_ FlowsE QL (h& Qsbdpg
1) uewl Ypsssamss G@nESng

2)  uewl ypsssms AHsfsdng)

3)  Geriomssdpg)

4)  Csusllle sy

33. The theory of reciprocal demand in the field of international trade is propounded by-
1)  Haberler
2)  Marshall
3) Ricardo
4)  Mill
srauCss auamflas gersHer ‘@ CrTEGamind adHardi Quki@g uflaurssmers Csmeud
Qararesmg Shsai.
1)  &sQuriem
2) s
3)  MemmGLm
4)  Oed

34. The foreign trade multiplier is given by
1) K=ds+dM

2) K=ds/ds+d

3) K=dy/ds+dm

4) K =1/dmpc

Sjeneanw euantlsls GLmEsD @msaTD Sl (HeTarg)
1) K=ds+dM

2) K-=ds/ds+d

3) K=dy/ds+dm

4) K =1/dmpc
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35.

36.

317.

To which of the following would the Mercantilists would have objected?
1)  Free trade

2)  Restricting imports

3)  Stimulating exports

4)  Accumulation

ECup sriul Leupmier org GOSE cuanilgiser wmliL QgMelsdarment?
) soLwbp aelsn

2)  Quseoiaus s HuuGssise

3)  gppwdow eméEeilsse

) elissd

‘The beggar thy neighbor’ policy refers to the use of tariff for
1)  Improving country’s balance of trade

2)  Eradicating unemployment

3)  Earning foreign exchange

4)  Importing sophisticated technology

‘GFangsaTym 2 msdr el el iqant G&mdarens Qné&EwdHs sms euflufer Lwemer @UiLig
GUIRRICEAIVA

1) Ggssdern auanilas sweanenoenws Cbu(B g ns

2)  Geuenauldens SHearLm L Sns AsHMS DS

3) Sjanaflwé Qeoraamianw Hasfsdng

4)  peiens Qsmom usms Qn&@nd Gaidng

Interest arbitrage refers to transfer of liquid assets from one monetary centre (and
currency) to another in order to

1) Take advantage of the difference in interest rates

2)  Speculate and regulate the rate of interest

3) Maximise country’s welfare

4)  Strengthen the interest rate

aully &wrEs Steument ererLg WWHULOES CQUTBLS®ET 6 LT aowigH e mHa)
LHETEMmI&EE wrHneug SCW sFULIL LG STFeTons Hlspeaumss GHssng

1) affl dsrigefid o drer Coumuim’igamers LwaLHSSH s D CsHSe

2)  aufl dlflgsms epmni@alige

3)  Cgegdlen pavsang 0Geilssd

4) el cldlgsamg euallanoliLi(HégiFHeD
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38.

39.

The commodity terms of trade is given by

y 1=t
4y
2) Tczﬁ
qx
3 T =2
an
y 1 -5
Pm

D L=t
4
2) Tc:ﬁ
4
3 T=2
n
y 1 -5
Pm

Dunkel Draft was related to

1)  Uruguay Round of Negotiations
2)  Super 301 Treaty

3)  Pharmaceutical industry

4)  Atomic energy

Lai6&ED Mo Qsel e QML jenLwig)
1) 2mECa aulLGuoas @liubsh

2) 2w 301 o e

3 webg suTiLS Agmle

4) Siam) ellend ,HmE
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40.

41.

42.

Consider the following statements and select the right answer from the code given

below :

Assertion (A): Monetary approach explains changes in balance of payment in terms
of demand for and supply of money.

Reasoning (R): Adverse balance of payment can be corrected through monetary
measures.

1)  Ais partially correct and R is a partial explanation for A

2)  Aisincorrect and R is not associated with A

3) Aiscorrect and R is not a correct explanation for A

4)  Ais correct and R is the correct explanation for A

ECp  sriulL  arsflumsmer  UgdgH sHsten  sflurer  eleneow  Sjiqufled

srouCLeapdledlBipg Core) Calid(s

o> mdl eungsid (A): uangsGsemen  uemluflaiiggener  Qgrirumer  uarliufeuTssamens
g0 () wrpprsoe S vlan@pap dlarsgsng

smyewrd (R): grgsoPn  uarl  ufleuidsewer  uaTErETT  erei(hsermed &l
QewiwiuLeomb.

1) A aerugurd il R eremug) A elpsrar Lndl elletsssmss sl ng)

2)  Acraug sfluflevene R ereruigy A e Qgmmyenwigns @) dena

3) A eanug Ml R sflwnan slansassans A 66G6 S(Heusns Sienouwieleamne

4) A eraug) Ml R eranug A alp@d sflwuner elensss55meusns el ng)

The concept of GVA in national income calculation is introduced during
1)  1990-91 2)  2000-01
3)  1996-97 4) 2011-12

GVA smssrésd Casflw aumomer semdSLligH@ il pab Qauiiud L eu@pLLb
1) 1990-91 2)  2000-01
3)  1996-97 4) 2011-12

The coins and notes in circulation are called as
1) M1 money 2) M3 money
3) M4 money 4) M5 money

LIGIT S TGS (ETLD, [TEwTUI MBI (@HLD L6 ig 6 @)hLiLg @rimiend Camoalinhdng.
1) M1 uewribd 2) M3 uewrid
3) M4 uewribd 4) M5 uewrbd
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43. What was the period of first finance commission?

1)  1947-52
2)  1952-57
3) 1974-79
4)  1980-85
W3 HlSEEweer Hrevas L Lb
1)  1947-52
2)  1952-57
3) 1974-79
4)  1980-85

44. When was FERA introduced in India?

1
2)
3)
4)

January 1974
January 1956
December 1964
January 1951

@pdureile eriGumg FERA @flpsidb Qewdiu’Lg?

1)
2)
3)
4)

soaeuifl 1974
spaauifl 1956
lgFbum 1964
soareurfl 1951

45. What is the purpose of having SLR in the banks?

1
2)
3)
4)

To meet the expected demand from depositors
To reduce inflation
To control deflation

To control unemployment

cumiflaafleo SLR Qupidmssedlen Crrésnd wimg?

1
2)
3)
4)

M0402

Calliy eneulig Qgrenswmeriseang Coameauanil 6Tl m6lsmeT(@neea
LTei&ESMSE G DESHED

Ganie|piseres 505560

Caumeauildars Sarrm L samss sL-HLu(H S50
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46.

47.

48.

Which one of the following is the correct concept of natural rating unemployment?

1)  Frictionally and structurally unemployed

2)  Frictionally and cyclically unemployed

3)  Structurally and cyclically unemployed

4)  Frictionally, structurally and cyclically unemployed

Cauamaulevoors HeawrmLseng @uéurs  wHTH  CQelwbd  shlwurear  HHSSTESD
ESaERT_cuDMIET 618)?

1)  egmie] SiewliyesmT uasuleremo

2)  egmiey spepenm Lientludlerenio

3)  SeblULFTT &gt Lienflulerento

4) o gmleyEniT, HELILETT, &g Lientludemento

“Trickle down” strategy implies
1)  Growing GNP taking care of poverty
2)  Reduction in the income of the upper class by deliberate redistribution

3) Direct achievement of better nourishment, health, education, etc. instead of
growth of GNP first

4)  To target a particular sector of economy for betterment

Trickle down Qplpenn EpssaT_omg 2 drarL_sdwig

1) euermdb GNP eumienowigmmyid

2) Wi aumaumdans) eumoraB®SS AL L LfiTallan apalb GmnEse

3) GNP auarisflssl LuHd sael, o Ladpalb, s L ILMSs® <pSuabamn GobLsssd

4)  EIUYELL Qurmertsmy eu@Llilbeanen @Qe&aTas Gamearh Cuobum®h e wd CGFlige

The term HYVP in new agriculture strategy stands for
1)  High Yielding Variety Pesticides

2)  High Yielding Volume Production

3)  High Yielding Varieties Programme

4)  High Yielding Volume Programme

4gl eleugmus Carerensuies HYVP eremuig) @ samens @hlé@Lo
1) e wieleerdsed gretce L&s&s0smeadlger

2) 2w euens llanerdsdd g(meuen

3) 2w aums ellenardsed B Lideuand LuATser S b
4) 2w euens ellenerdaed HHOSH L L LD
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49. Spearman’s rank correlation co-efficient is defined as

N (N?-1)

1 R=1-
) 6xD?

62D?

2) Rzl—m

N? - N

3 R=N-—"__%
) 62D?

6xD?
N° - N

4) R=N -

avlwrGuaien sreuflens @GeamTabd @mimied euaFuUnssLUILOS DS

N (N2 -1)

1 R=1-
) 6xD?

62D?

2) Rzl—m

N? - N

3 R=N-
) 62D?

6xD?

49 R=N-
) N’-N

50. “F” ratio is equal to
1) F=87/S}
2)  F=(S}) (S82) x100
3) F=S7(S7)x100
4) F=S%/S?
“F” e9ls1b @M@ s0Mang)
1) F=8/8}
2)  F=(S}) (S82) x100
3) F=S7(S7)x100

4) F=82/82
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